»P.686 »P.740 »P.740 119

OO e e \
ol 77v3> =1= L8| RoHS

Ny sc B&S5HKILE YTy 3l 1025 .,

IE%=EbFtYy MAS—ZBEETEET,

HA RIFEEEICMBRAREE T D EEICERTY .

B mm
D
G2
¢B G1
I
(@)
-
e \
27 > L X (SUSXM7) M
OA
M3x8 6.5 4 3 17 9 3 4 CYS 3-8 220
M4 X 10 8 6 4 21 11 3.5 45 CYS 4-10 220
M5x 12 8 6 4 21 11 35 45 CYS 5-12 220
M6X 15 10 7 45 27 13 4 5 CYS 6-15 330
M8X 15 13 10 6 31 16 45 55 CYS 8-15 550
M10x 20 16 12 7.5 36 18 55 6.5 CYS 10-20 600

FFvav

iwata





